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Public Administration

Paper II

TARAITET
gouent 11

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U7 STRd. T WYY Wi

TOAT ¢ A1 TRAUCThd THY TR (100) IgTEEr U foeel ofed. W WA €1 (2)

The most popular form of city
government in USA is :

(A) Parlimentary Commission

(B) The Mayor—Administrator Plan
(C) The Mayor—Council Plan

(D) The Commission Plan

Factors contributing to the emphasis
on Comparative Public Administration
in America :

(1) The influence of German
immigration since about 1933

(2) The translation of the writings
of Max Weber

(3) Because Public Administration
emerged in America

(4) Final entrance of the USA into
world politics after 1945

(A) (1), (2) and (3)
(B) (1), (2) and (4)
(C) (3) and (4)

D) (2), (3) and (4)

~ ~

YR T TR ITeX TR Falfd
AR YR B AR
(A) TEEE S

il S

(B) T U —ASAMER =
(al

3

(C) T H—hHel =
(D) T HHIYME =

A s LN
Hhd qercHesh AR USTEATE S
U heh e ©§ ITe :

(1) gAR 1933 URE FHART S
EEIE]

(2) HHT de=H Ta@m 9o

~

(3) HRUT ARYRTEATEl Sed STHhd
HATedl

(4) 1945 FqT SMfAH USTHTIO
SERGh=n Sfaq gew

(A) (1), (2) smfur (3)

(B) (1), (2) 37fu (4)

(C) (3) =mfur (4)

D) (2), (3) afur (4)
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Who says “Administration cannot
normally improved very much

without changes in the

environmental constraints”.

(A) Gunnar Myrdal

(B) Fred Riggs

(C) F. W. Taylor

(D) H. Emerson

Consider the following statements :

(1) Behavioral Approach emphasis
on facts.

(2) Systems Approach views an
administrative system as a sub-
system of the society.

(3) Ecological Approach examines
the instructions between an
administrative system and its
external environment.

(4) The Bureaucratic Approach
has been used to study the
developmental role of
bureaucracies.

Which of the statements given above
are correct ?

(A) (1), (2), (3) and (4)
(B) (2) and (3)

(C) (2), (3) and (4)

D) (1), (3) and (4)
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TSRO G YaHHE 95 haddl-
T U | WRET R
TS TERA AR o TA Sl Aed ?

(A) TR foeE
(B) s fo=

(C) Th. &Y. T

(D) TH. gHEH

Creite faar foema =

(1) R e qeger R .

(2) ST Sl URMHHR Y el
TS USR] UM UTEd

(3) TATaRUTCHe® gfeahid UIMESHMA
T S0 T AR STl
I = T AL

(4) remcemEren foerrarcas  qffeh=n

HWE HLTITETST ATh TR IcHT

it aTRen e o
(A) (D), (2), (3) 3T (4)
(B) (2) &mf (3)
(C) (2), (3) e (4)

(D) (1), (3) =7foT (4)




Which of the following is the
structural feature of administration

in the developed countries ?
(A) Organizational Structure
(B) Rational Bureaucracy
(C) Powerful Bureaucracy

(D) Centralized Administrative

Mechanism

Assertion (A) and Reason (R)

pattern :

Assertion (A) : The Cabinet
operates under the leadership of the

Prime Minister in Japan.

Reason (R) : In Japan the Cabinet
is responsible to the Emperor and
not to the Diet.

Answer the question using the codes

given below :
Codes :
(A) Both (A) and (R) true and (R)

is the correct reason of (A)
(B) (A) is true, but (R) is false
(C) Both (A) and (R) are false
(D) Both (A) and (R) are true and

(R) is not correct reason of (A)
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[ [

ferfad S9N WemHATY SLEAcHS
ooy WIefterish! oA 3T ?

(A) HESAHE TEAT

(B) WIS -IHLTME!

(C) IR ATRISEl
(D) wisehd TeMERIT Z=0
faem (A) & &R (R) 9 ¢

faems (A) : SUFEER Tdg Il

~ fa e~ ¢ £ ~
Adclelledl HIAHS G <hld <hid.

HAUT (R) : SUFHE hisHeS THEEN

SEEER 3E, SMedl Al

i

(A) (A) =1for (R) S8t sIsX 3T (R)
T (A) I I FHREU IR

(B) (A) TR 3R, W (R) § I 3T

(C) (A) anftr (R) T2t =% eTed

D) (A) 2707 (R) St se 3T 2770

(R) ¥ (A) ¥ I7g FRU 8]
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Assertion (A) and Reason (R)

pattern :

Assertion (A) : The more the
development of technology, the
higher the level of differentiation.

Reason (R) The level of

differentiation in any country
depends on the technological and

non-technological factors.
Codes :

(A) Both (A) and (R) true and (R)

is the correct reason of (A)
(B) (A) is true, but (R) is false
(C) Both (A) and (R) are false

(D) Both (A) and (R) are true and

(R) is not correct reason of (A)

Which of the following is not

included in ethics in research ?
(A) Seeking consent of respondent
(B) Providing incentives

(C) Maintaining confidentiality

(D) No asking sensitive question
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fagm (A) effor sRo (R) 91 :

faam (A) : TR oo e s

fader! YSYETE! Uidel SITE.

THROT (R) : FIVHR SIRel kTl

Uidesl difsteh ST TR—dSIsl Seehia]

A ST

Hehdih :

(A) (A) for (R) S8t sIe 3T (R)
T (A) 9 IAFg U AR

(B) (A) R 38 T (R) & 9% 3T
(C) (A) amfor (R) =1 =& 3ed

D) (A) 2T (R) Sl SER 3Td AT

(R) ¥ (A) 9 Irg RO 8]

@I TeTdeh! SHI0TdT ST Y TS

AfaehaHed A9 TR ?

(A) ITETETT Tt fHesferd
(B) wii@ifies <o

(C) T T

(D) HoRmRie e 7 foe=m




10.

Identify the incorrect statement :

(A) The comparative administration
group as set up in 1963

(B) Ferrel Heady was the Chairman
of the CAG from its inception to

the end of 1970

(C) The Comparative Administration

Group (CAG) has widened the
horizons of public administration

CAG to focus on the adminis-
trative problems of developing
countries

Assertion (A) and Reason (R)
pattern :

(D)

Assertion (A) The
Indeterminacy promotes a bazar like

Price-

atmosphere in a prismatic society.

Reason (R) : In a prismatic economy
‘arena’ as well as ‘market’ factors
coexist simultaneously.

Answer the question using the codes
given below :

Codes :

(A) Both (A) and (R) true and (R)
is the correct reason of (A)

(A) is false, but (R) is true
Both (A) and (R) are false

Both (A) and (R) are true and
(R) is not the correct reason
of (A)

(B)
(C)
(D)

9.

10.
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Tohid oo™ efesen :
(A) ¥ 1963 TE TerIcTeh T T
TATIAT AT

(B) ®@ € § 1970 =1 & THd
oo JIMEE T2 3TeHel '

(C) qoIch TRITET e AR aeeT
gifcsl ¥¢ el 3R

(D) farEeie Sm= SeEeh & THEeT
T8 hixd HOAHES JAAIHSD
TRMEA T2

giqured (A) sfor R (R) TH1 :
yfaures (A) : frma-e1ff=aa fiemfes

FEEIHEE STSRERE] ardaradond
TedET <.
T (R) : Toerdfes arefezasdy ‘ famr’

o ST 52k Rl Sodl Ukl STHAM.

~

n Y Rl O =
W] Iqeie] Hohdlen dlYe HRAld It
ol o

Hehdieh :

(A) (A) 37for (R) 2l s= 3A1fr (R)
g (A) 9 T FRO AR

(B) (A) =% 318, T (R) © s 318

(C) (A) @nfor (R) <21 =& =ed

(D) (A) amfor (R) T8l @ a7t (R)
T (A) 9 9rg SR AR

[P.T.O.



11. Which country practiced limited

12.

operation of market mechanism with
the state playing an active role in
guiding the economy for the welfare

of the community ?
(A) Japan

(B) Malaysia

(C) India

(D) China

From the following which statement
is true with regard to ‘Sunset

Legislation’ ?

(1) It is a formal process of policy
review for eliminating the
undesired, outdated, redundant

and irrelevant.

(2) Elimination or minimization of

low priority programmes.
Select correct codes :
(A) (1) is correct
(B) (1) and (2) are correct
(C) (1) and (3) are correct

(D) (1), (2) are incorrect

11.

12.
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0T I STSIR, 014 HATfed shiare

T Sl SO HSTE] hedTuTars]
I RIS LA Hiha it
EEICE I

(A) ~OM™
(B) weIrem=n
(C) ¥

(D) =

e TeTeh! =hivrg o ‘ wrered fadee’
Heuld B 3R ?

(1) oafsa, STetener, STEgaeh ST
SAYTETR T RIS & S
TSR SR Ui a7

(2) FHH T FRIHA ST9eA R
HH L.

qra Gehaisk faeT
(A) (1) =R

(B) (1) Ao (2) =&
(C) (1) a7ftn (3) SR
(D) (1), (2) ekl 2ATed




13.

14.

Assertion (A) : The Public Accounts
Committee plays a very important

role as the watch-dog of Parliament.

Reason (R) : The basic material
from which the committee draws its
subjects for examination are the
audit reports of the Comptroller

General of India.

(A) Both (A) and (R) are true and
(R) is the reason of (A)

(B) (A) is false, (R) is true
(C) Both (A) and (R) are false

(D) Both (A) and (R) are true and
(R) is not the reason of (A)

Which committee fixes a time for
voting a particular demand and for
all the demands for grants included
in the budget ?

(A) The

Committee

Business Advisory

(B) Department Related Standing

Committee

(C) Minister of Finance

(D) Rajy Sabha

13.

14.
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faeam (A) : TrehorEn 9ibdr & ggeem

el WUA Hewaqul iRl s

S®ROT (R) : HiHGT <1 HAYd |
TGS A fa99 Fhled 9 YRar

BREEIR:HGIC IR T E I BRGEC ISRl

3TgaTA TR

(A) (A) o7for (R) Tel | 3TTgd A1t
(R)  (A) = HRU 378

(B) (A) @2 38 (R) § BR 3%
(C) (A) 2o (R) Tet @i ed

(D) (A) =7 (R) Tel | 3Ted A1
(R) ® (A) ¥ &R el

SRV AT STETh ARG Aae M
FLOAEE! AT AUGHeTd TS
M e S e L 3 e
[RIEECECTC

(A) =FFEE AR i
(B) faurmsht wefug zomdt wfad
(C) s1gusit

(D) T==IHEE

[P.T.O.



15.

16.

17.

From the following which provision
deals with the Money Bill as per
Article 110 of Constitution ?

(1) Imposition, abolition, remission,
alteration or regulation of any
tax.

(2) The appropriation of money
out of the consolidated fund of
India.

(3) The imposition of fines or other
pecuniary penalties.

Select correct codes :

(A) (1) and (2) are correct

(B) (1) and (3) are correct

(C) (2) and (3) are correct

(D) (1) (2), (3) are incorrect

Who is the Chief Accounting
Authority for all transactions of the
Ministry ?

(A) Secretary

(B) Joint Secretary

(C) Chief Minister

(D) Finance Officer

Which Article of the Constitution
exempted the property of the union
from all taxes imposed by a state or
by law provided otherwise ?

(A) Article 284
(B) Article 285
(C) Article 270
(D) Article 272

15.

16.

17.
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qEreTien] hIURI TGS B JeHST=1 et

frfed sme 2

(1) hITTET X A0, TG8 HT01, |,
EHCICEINEREE]

(2) yRarear sty frefga demen
fafram

(3) <e fohar s e <8 @RW

g Hehdieh aSl

(A) (1) 2for (2) =R

(B) (1) =7 (3) seR

(C) (2) Mo (3) ==K

D) (1) (2) o7for (3) e 3MRA

ATl ¥ SHERHel & el

ST HI0 STEA ?

(A) Tf=a

(B) Heaf=a

(C) gerwsi

(D) o sAfeprt

TSTESAAT RV heAH AT
HTeTHeN Teaeanr forel Tsar=n faid
IS FIHFRTMGIAR eeelel o
YA e feell 3 siodd Eed =
TS el RN ?

(A) =hetH 284

(B) =nem™ 285

(C) =hem™ 270

(D) we™ 272

110 TR “HAfagFeRTd

10



18. Match List I with List IT and select

the correct answer from the codes

given below :

(@)
(b)
(c)
(d)

(1)

(2)

3)

(4)

List I

Audit of Accountancy

Audit of Authority

Audit of Appropriation

Audit of Propriety

List II

Ensure that expenditure had

the requisite authority

To detect cases of extravagance

and waste

To see the complete and true

picture of final accounts

Most
obligatory audit

important part of

Codes :

A 3
(B) 4)
© @
D) 3)

(@) ()
(1)
(2)
4)

(1)

(c)
(4)
(1)
(2)
(2)

(d)
(2)
3)
3)
(4)
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18, § I3 get 11 & aan offo @t
Tt dfedqd ara Sar feren .

(@)
®)
(c)
(d)

(1)

2)

3)

(4)

=t 1
ETLer

SO ®E el ATHhe Ty
~

YT TTHeRR SToear= g
L0

@IS AT SFAEXTFR TR0
e

e @i w0 A 'R st <9 6
d el

Hierd e Helfa Hewer=n 9
AR

- °
L3
+

A 3
(B) 4)
€
D) 3)

(@ (®)
(1)
(2)
(4)

(1)

(c)
(4)
(1
(2)
(2)

(d)
(2)
3)
3)
(4)

11
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19.

20.

According to Gladastan which are
the following principles of good
budget ?

(1) The budget should be balanced.

(2) Only one budget for all financial

transactions.

(3) Budget should be on net basis.

(4)

Budget should be on annual

basis.
Select the correct codes :
A) (D), (2), 3)
(B) (1), (2), 4)
©) (@), (3), 4@
D) 3), (4), (1)

Which is the final stage of the

budgetary process ?

(A) Passing of Money Bill

(B)

Passing of Finance Bill

(C) Passing of Appropriation Bill

(D)

Planning, Scrutiny, Accounting

and Audit

APR - 21224/T11—C

19. TelSRT=A HAHER ATl SIS

20.

ETATIdehl IVl dw 3Ted ?

(1) SESYAH Fgfcd M.

(2) He foxia aerE6 THd -
TS 3T,

(3) SN Fede wearE foer

M.
(4) ofETYSE e 1.

T Hehdier faer .
A) (D), (2), 3)
B) (D), (2), 4)
(C) (2), (3), (4)

D) (3), (4), (1)

SRTSISR 19 fshamiel Sifaw 2o iR ?
(A) &7 f9gFe® 99 Hwl

(B) fow fag=es 9| ol

(C) fafm=r fadaes o=

(D) A==, SToTotr, o aevl F ol
Tl
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21. From the following which are the | 21. TYEIciUsh! HHISThHEATIT=! HIvKT Sf¥TSet
characteristics of social welfare ? M ?

(1) Utilisation of welfare measures (1) T FHITF T A GI:))\d;'S’Il('H
to support or strengthen family R o e EEE A
as a basic social institution. A e BT

(2) Intent to strengthen the

8 (2) ieq TR 9EAT o]
individual capacity to cope with
ERIESER LG IS LD i
the life situation.
I Hehdih TEel :
Select correct codes :
A) T (1) R

(A) (1) is correct (&) = e

(B) (1) and (2) are correct B) (1) @ ¥

(C) (1) and (2) are incorrect (©) (1) &t (2) & T E

(D) None of the above (D) OICIQ'i‘\:Iq';\I °i';\lulaﬁl "II(\I

22. Which period is declared as | 22. SRIUl SicMadl FIa TZH AW
International Women Decade by the AfeeTl SO WUE WG el S ?
United Nations ?

(A) 1965-1975
(A) 1965-1975
(B) 1975-1985
(B) 1975-1985
(D) 1995-2005 (D) 1995-2005
13 [P.T.O.



23.

24.

25.

From the following which scheme is

not intended for women ?

(A) One Stop Centre Scheme
(B) Swadhar Grih Scheme

(C) Anganwadi Services Scheme
(D) Ujjwala Scheme

Which community is not included in
minority at the national level ?

(A) Christians
(B) Buddhist
(C) Zoroastrians
(D) Gujarati

The objectives of ‘Hamari Dharohar’

programme are :

(1)

To curate rich heritage of
minorities under overall concept

of Indian culture
2)
3)

Curating iconic exhibitions

To benefit minority youths

especially school dropouts
Select the correct codes :
(A) (1) and (2) are correct
(B) (2) and (3) are correct
(C) (1) and (3) are correct
(D) (1), (2) and (3) are correct

23.

24.

25.
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WeAeTyeh! U AT HieeTret ST
TR ?

(A) a7 =M g I

(B) @YX T8 FSHl

(C) STFIUETSt &l Frer

(D) Ivsoel AT

T WO hI0] FHSEMET 39—

AT AR AR ?

A fge=r

(B) s

(C) #NREa" (9E)

(D) TSt

‘TR e wRRAET ¥ e STe

(1) ¥q9 9RAE H¥hd=a &ed-
AT L0

(2) fouiy Yoy HORATUT

(3) THRT Tledl ArEum diQ"-N-i{OJ—{iOh

AETIAT BRET UIg=ao)

~

T Hehdie fTEer

(A) (1) =for (2) SR TR
(B) (2) 27ftr (3) S 3Mea
(C) (1) 37ftr (3) s Mmed
(D) (1), (2) =7fo1 (3) TR AT
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26.

27.

28.

Which Act

Government of India to provide a

was passed by

uniform pattern of administration,
care, protection, treatment and
development of neglected or

delinquent juvenile.

(A) dJuvenile Justice Act, 1982
(B) dJuvenile Justice Act, 1983
(C) Juvenile Justice Act, 2000
(D) Juvenile Justice Act, 2001

Who remains the Chairman of
National Disaster Management
Authority ?

(A) President

(B) Prime Minister

(C) Chief Minister

(D) Judge of Supreme Court

In which year National Disaster

Management Authority was

constituted ?
(A) 2001
(B) 2002
(C) 2004
(D) 2005

26.

27.

28.
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TRTEH, hlcesil, TLET0, ST=R ST gaif e
e el fepviREele goren TeheaH

THA G FLTATHIS] TR HLHA 107

L] N
HEATT HSRK el ?

(A) T =M™ <hlEcl, 1982

(B) 911 =™ whrdgl, 1983

(C) el =™ sh1Fsl, 2000

(D) 9 =™ kSl 2001

TS ST e WTeeR{oT= S7ee]
I WA 2

(A) Tsadl
(B) a9

(C) H=ams

(D) weEi=g TEEr T

FHIVTT O AT AT AT
UIfereRTom=l 9T HIvA Sl 2

(A) 2001
(B) 2002
(C) 2004

(D) 2005
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29.

30.

What 1is Affirmative Action

Reservation ?

(1) Policies that promote the
representation and participation
of groups that have been
historically marginalised or

discriminated against.

(2) It is a action plan for welfare

of the citizen.
Select the correct codes :
(A) (1) is correct
(B) (2) is correct
(C) (1) and (2) are correct
(D) (1) and (2) are incorrect

Through which constitutional
amendment Sarva Shiksha Abhiyan
(SSA) is mandated by Government

of India ?
(A) 85th
(B) 86th
(C) 87th

(D) 88th

29.

30.

APR - 21224/T11—C

HHRHS Fefl AT HE 3E ?

(1) Uferaergsean geiten fhar SgumE
SheTedl T Wi S HedrT™
Wi QU R,

(2) B RTERTAT SheATIETS Sl ATl

e,

T Hehdier faer .

(A) (1) R AR

(B) (2) sIsR TR

(C) (1) =mfur (2) B <X e

(D) (1) =7 (2) & Fepiw AT

Yd HLRRA IOl BT GE&iIgan
wd foen afvar (SSA) stfemd el
e ?

(A) 8531
(B) 864t
(C) 874t

(D) 88

16
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31. Find the incorrect statement from 31, T g%ﬁlﬂ M fEer
the following : ' ' )
(1) Public policy may be either (1) S 10T Tha HhreTh fohel
positive or negative in form. TRRIHE TR ST I

(2) In positive form it may involve (2) HhWRAS e fafire wwrer
some government actions to RIS HTvamEdl wEN SR
solve particular problems. Pl HHET 3TY TRl

(3) In negative form it may allow (3) THFWHE® WU o Hras®
decisions by public servants to Yo g oo a9
take action on some matter on Tehd SE TR 3TRYT Wil
which government order is ST
sought. i

Codes :

oces (A) (1) @ (2)

(A) (1) and (2) ®) @

(B) (2)

D) (1) D) 1)

32. Assertion (A) and Reason (R) | 32. Ta&m (A) &nfor =wro (R) 91 :
pattern : o faem (A) : WP s, €
ﬁii‘zzzu’; (::;la:t Pﬁlfj:gypzﬁg (Dewey) Tahe] ‘a1 ToT o= Twe’
described as ‘the public and its ST T hefed ML Te Hfsd L.
problems’. TR (R) : Tsifeh €07, ofieh o
Reason (R) : Public policy is about AT TR, qed STy UTIeEd 8.
people and their needs, values and e
preferences. Hehdioh :

Codes : (A) (A) 31for (R) ST sfIeR 7T (R)
(A) Both (A) and (R) are true and T (A) 9 I RO AR

(R) is the correct reason of (A) B) (A) S & H(g R) 2 5% o
(B) (A) is true, but (R) is false ’

(C) Both (A) and (R) are false (©) (&) ST (R) Il < e
(D) Both (A) and (R) are true and (D) (A) zfor (R) el SIsR red 2o
(R) is not correct reason of (A) (R) ¥ (A) ¥ Mg &R ATE]
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33. Match the List I with List II and

select the correct answer from the

codes given below :

(@)
)
(c)
(d)

(D

(2)

3)
(4)

List I
(Author/Editors)

Pressman and Wildvsky
James Anderson
Barrett and Fudge
Mazmanian and Sabatier

List II

(Books)

Examining the Policy-Action
Relationship

Implementation and Public

Policy
Implementation

Public Policy Making

Codes :

A) )
B) @
©) @)
D) )

(@) (®)
(4)
(2)
(1)

3)

(c)
(1)
(3)
(4)
(1)

(d)
(2)
4)
3)
(2)

APR - 21224/T11—C

33. T I & =i I i e 3ior @eiial
Thawmyd A I e

(@)
®)
(c)
(d)

(1)

2)
3)
(4)

et 1
(FTETeh/HUTGeh)

YA A0 aTEessteht
S sfetE
e S S
HrgrafTEa Ao et

= 10

(TTeh)
T & wifereft-sferm Rerer-
fera
SieriTeTH Ug ufeern wiferdl
ST
HESeh &R0 TR 0!

. .
.
.

A) )
B) @O
(C) @)

D) “)

(@ ) (© (@)

4) 1) (@2

2 G @

1 @ O

3 @O (@

18



34.

35.

‘Incremental approach of public
policy is unjust as it creates a gap
between those who have more power

and those who have little power.’

Who said this ?

(A) Amitai Etzioni

(B) Yehezekel Dror

(C) Karl Marx

(D) James M. Buchanan

According to Lasswell, policy

sciences are :
(1) Contextual
(2) Multi-method
(3) Unrelated
(4) Problem oriented
Select the correct codes :
(A) (1), (2) and (3)

(B) (2), (3) and (4)

(C) (1) and (3)

(D) (1), (2) and (4)

34.

35.

APR - 21224/T1—C

HeiSieh G SEld gleehM ST -

Feh 8 HRU SAAhS SR IeRI
e oMo =AreaTehe wH YT TR
A ST ot . ® R Tew ?
(A) s g

(B) Fehel IR

(C) =rel W

(D) S TH. T

.................

= .

T Hehaieh Al .

(A) (D), (2) 7o (3)
(B) (2), (3) i (4)
(C) (1) et (3)

D) (1), (2) Ao (4)
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36.

37.

According to Lindblom, which of the
following aspects prevent policy
makers from identifying a full range
of policy alternatives and their

consequences ?
(1) Constraint of time
2) Intelligence

(3) Cost

(4) Environment
Select correct codes :
(A) (1), (2) and (3)
(B) (2), (3) and (4)
(C) (1) and (3)

(D) (1) and (4)

According to Barret and Fudge, on
which of the following aspects does
policy implementation depends

Choose wrong option.

(A) Knowing what you want to do
(B) Availability of resources

(C) Ability to control these resources

(D) Ability to manipulate resources

36.

37.

APR - 21224/T11—C

feeaiT=a A, Weladdh! H0 T
geor frafer R gatr= Sgol
gl emfon == 9o
e ?

(1) 5o ae
(2) fgHm
3) =

(4) e

=

T Hehaieh Al

(A) (D), (2) o (3)
(B) (2), (3) o (4)
(C) (1) =mfor (3)
(D) (1) =mfor (4)

S 0T ThoT=aT Hal, WTeiieTteh! ahToTe
Uefe IR STHeTesmavt STaeed
A ? gHa wmE e

(A) T & HUFS TR § S =0

(B) STl ISl

(C) =1 e o= vt &

(D) TEEH BATeUATS] &TA

20
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38. According to Dror, which of the | g5 =t o=y 73 wEieie SO &KW
following is a policy making stage ?
Ffdd=t o=l sme 2
(A) Determining policy making
strategy (A) &R HfHd= gEte 3@
(B) Establishing operational goals (B) WWWW 7 AUl
with some order of priority )
(C) ERUT= SHATSIEU HTaH Yo
(C) Motivating the execution of
EXU
policy
(D) Processing problems (D) Hisha HHE
39. Which of the following pair/s is/are | 39. TWTceTeh! TV SISl TR Seoet! AT/
correctly matched ? R ?
(1) Meta policy making stage — 1 T 9 o - we,
Surveying, processing and . L .
, gfsrar afor weeH fosfaa =
developing resources
(2) Policy making stage - (2) RO SIUAET T - RO
Motivating the execution of CERERICRIG] EEREETR
policy (3) IR SAfTEAHaA T ~ X
(3) Post policy making stage — TR FaitaT
Executing the policy .
Hehdieh :
Codes :
A) T (1
(A) Only (1) = =
(B) Only (2) and (3) (B) ™ (2) ST (3)
(C) Only (1) and (3) (C) e (1) srfur (3)
(D) Only (3) (D) T (3)
21 [P.T.O.



40.

41.

42.

The 18 stage model of policy making

is related with :
(A) Herbert Simon
(B) Yehezekel Dror
(C) John Kingdon
(D) Laurence Lynn

What is the objective of good

governance ?

(A) Sarvodaya

(B) Social Welfare
(C) Antyodaya

(D) Good Government

The first report of Nolan committee

is related with :
(A) Official position
(B) Pay grades
(C) Pay commission

(D) Standards in public life

APR - 21224/T11—C

40. 4R fAfdd= 18 w1 At Ir=mgl defuq

41.

42.

R

(A) TS FEFA
(B) Feehel 3R
(C) I fepred

(D) &= fom

WA 3R FE e ?

(A) HaH

~ N S

A 9igd=n Ufee  T8dr

“Giﬁif‘%il‘d?ﬂ%:
(A) HEEEE <l
(B) o Sroff

(C) o SN

(D) HrEsiHes STeAie gsi

AT

22



APR - 21224/T1—C

43. Citizens Charter was first adopted | 43. TN TS HEAYSH HIHT I
in which country ? wiehe el ?
(A) USA (A) 3R
(B) UK (B) T
(C) India (C) s
(D) Singapore (D) fammgR
44. Which key dimensions of good | 44. Te-TERW SMheheriel STk Sfehor
governance were identified as per SEIUESTIHR. YRIEATS v g&d Ue]
World Bank document on sub- foTd S 3 2
Saharan Africa ?
(1) ek oo e
(1) Public value management
: (2) WES(Teh &5 e
(2) Public sector management
(3) Business management (3) HIEH AT
(4) Acountability (4) FTETE
(5) Legal framework for (5) fowmmESt dunfaes ey
development
P (6) wfed! STfor YRETieR
(6) Information and Transparency o
Hehdleh :
Codes :
(A) (2), (4), (5), (6)
(A) (2), (4), (5), (6)
B) (1. 2. (3). (6) (B) (D), (2), (3), (6)
(©) (2), (3), (4), (6) (C) (2), (3), (4), (6)
(D) (D), (2), (5), (6) D) (D), (2), (5), (6)
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45.

46.

47.

Who is founder of concept ‘Citizens
Charter’ ?

(A) John Manro
(B) John Martin
(C) John Major
(D) John Mayor

Which of the following indicators of
good governance is not given by

Kautilya’s Philosophy ?

(A) The king should be servant of
state

(B) The king should be just and
honest

(C) The king should not follow the
code of conduct

(D) To ensure people’s welfare

Which of the following is not the

reason for the growth of

Administrative Tribunals ?

(A) Administrative justic cheaper
(B) Speedy justic

(C) Flexibility

(D) No provision of appeal against

the decisions of tribunal

45.

46.

47.

APR - 21224/T11—C

ARTRERTET TR A1 WRed =T WO I
e ?

(A) S 7

(B) A ARM

(C) S TSR

(D) S I

Fifeeg=a TERMmes RIS I

T WIS AR 2

(A) TST B TSI AR SHE
(B) =T &1 2o 9 9THEIveR 3T9mEn

(C) TS =REfEdl 9T shial il
=

(D) < HedmmEl ©ET ST

ISR TE  ATATTERIT=AT dTe 9Tl

@CHedeh! IV HROT AE 7
(A) TEHE =E W Y
(B) ~e] =mE
(C) wafeshal

(D) =rEMteeRT= oEfaes eTde
F Iq e
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48. The relations between citizens and | 48. 9Ffis T TIMET Ir=ARTA Tael FTHAT!
administration are like : A
(1) Clients (1) WEs
(2) Regulatee 2) faf=taes
(3) Litigants (3) foamt (YewhcHam)
(4) Controller (4) T
Select the correct code : I Hehdish TSl
(A) (1), (2), (3) A) (1), (2), (3)
(B) (2), (3), (4) (B) (2), 3), (4)
(C) (3), (4), (1) (C) (3), (4), (1)
D) (D), (2), (4) D) (1), (2), (4)
49. Which are ways of people’s | 49. ThI= WRIEANIGT HEWNTE IO AT
participation in administration ? aed ?
(1) Participation in decision-making (1) frofawfrea g
(2) Participation in implementation (2) FAAASSTAUINE TN
(3) Participation in sharing benefits (3) TNYETEUHE UM
Select the correct code : AT Hehdish Teel
(A) (1), (2) and (3) (A) (1), (2) = (3)
(B) (1) and (2) (B) (1) @ (2)
(C) (2) and (3) (C) (2) = (3)
(D) (1) and (3) D) (1) 9 (3)
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50.

51.

52.

The object of Citizen Charter was :
(A) Democratic Decentralisation
(B) Responsive Administration
(C) Strengthen the Panchayat Raj
(D) Removal of Poverty

Research methodology includes :
(A) Research policy of government
(B) International research policy

(C) Establishment of research and

development cell

(D) Procedures for scientific

investigation

In which model general principles

are developed from specific

observations ?
(A) Micro theory
(B) Induction
(C) Deduction

(D) Macro theory

50.

51.

52.

APR - 21224/T11—C

TR Te=n Se9 ® Bl :

~

(A) wemer |

n

[eh Y]

OI:

(B) Afq9crcdss 99T

(C) TS Tosehe iUl

(D) =g e

HeNET UgdHed 8 At B
(A) THRE GNEA ER

(B) ST HNEA €l

(C) HeeA 37 forshme Sheq €

(D) S=ifTer qUIEUiES wisman

FHIe greuHed fafsme fAaTere

r~ o

A awd fasRfaa et STa ?

(A) gem fagia
(B) fermem
(C) T

(D) T fagra
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53.

Assertion (A)

research project needs to include

: Designing a

serious considerations of the ethical

dimension.

Reason (R) : Many social science
studies aim at describing situations

and events.

Answer the question using the codes

given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

53.

APR - 21224/T1—C

TF (A) : TN Teheur=t AT LA
Afcrer aftHTo=n YR foeR Y0 e
3TR.

T (R) : 3 9IS fag e
gfifeerdt onfor oA v Ha.

G Hehdlsh 9% UvE STl ol

+ .
.
-

(A) (A) Tfor (R) St 9 3TTed A1f0T
(R) ® (A) < 79 TI&ehiu 38

(B) (A) &fur (R) Sl ¥eF e WY

(B) Both (A) and (R) are true but
(R) is not the correct explanation (R) ® (A) = Img Tehol e
of (A) .
(C) (A) 9 3¢ g (R) & 3WH 3T
(C) (A) is true but (R) is false
D) (A) is false but (R) is true D) (&) S e T (R) ¥ T M
54. The hypothesis that suggests there | 54. 38 TRIdHA A Ffad HId I, AT
is no relationship among the TS RO GEY TEd
variable understudy :
(A) W9 TR
(A) Simple hypothesis
(B) Complex hypothesis (B) I
(C) Null hypothesis (C) I TR
(D) Logical hypothesis (D) Wi TRraw
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55.

56.

57.

Which approach in research focuses
on understanding behaviours,
attitudes and opinion of individuals

or groups ?

(A) Quantitative approach
(B) Mixed-methods approach
(C) Qualitative approach
(D) Comparative approach

Which is the good source of

formulation of research problem ?
(A) Survey

(B) Case study

(C) Review of literature

(D) Hypothesis

The arrangement of conditions for
collection and analysis of data in a
manner that aims to combine
relevance to the research purpose
with economy in procedure is

known as :

(A) Hypothesis

(B) Research design
(C) Research problem

(D) Research question

55.

56.

57.

APR - 21224/T11—C

HYNEAIA ShI0al gfeh STl fehan

T A, g S0 Ha H/AESA SUEER
higd M ?

(A) TEAHE g

(B) s usd=n gieam
(C) TuTeHeh gfteehM

(D) FoeHh gieeh

HINYA L SUSUIEE hivd =Tl
YA og 7

(A) HIem

(B) =T A5TH

(C) weeiarfecman e

(D) TR

2T Hehorret a TowersoTe STeN TEA
T AT Ie¥l WINEA B ATEEING
TS HIET A HETSA AT Sad
-E”?D-&[ ‘-_EFUW;T .

(A) T

(B) HIMEATET TGS

(C) HYNed TIqeET

(D) YN W9A

28



58.

59.

60.

Name the research method which is
usually done by developing a close
interaction with members of a group
or living in the situation which is

being standard.

(A) Case study

(B) Participant observation

(C) Community discussion forum
(D) Participators research

Which is not the function of research
report ?
(A) To communicate the research

result

(B) To help the executives in

selection of right action

(&)

To verify conclusions of others

(D)

Using inappropriate research

methodology

Which of the following is not search

engine in research ?
(A) Alta Vista

(B) Google

(C) Share Ware

(D) Britannica Encyclopedia

58. T TR SHeRieit TRl STafehag

59.

60.

APR - 21224/T1—C

i

fenen o Teardi=n 1929 S0IR TR O &
feordia TgT ol W

(A) =T A

(B) weurn e

(C) 9 == #9

(D) HEHT wYeA

TN ST Sy hIod

el 2

(A) TeneETn fres wgfaa o)

(B) SR WG I Sl hivdTd

e 0!

(C) g&=ar=n fehwi=l Tede S

(D) Fehi=M HMYA Tgdral amm

TYNEAMES Wefieldeh] HIvG & 3foM
e ?

(A) et fegwa

(B) T

(C) TR TN

(D) foeifen favasm
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61.

62.

Who of the following has restricted
the use of term administration to the
activities of the administrative

branch only ?

(A) Willoughby
(B) L.D. White
(C) Luther Gulick

(D) Marshal Dimock

According to critics, what is the main
drawback of the view that equates
administration with managerial

techniques ?
(A) It is too abstract and arbitrary

(B) It includes technical and

operational activities

(C) It focuses on the common

purpose of administration

(D) It provides a realistic character

to administrative study

61.

62.

APR - 21224/T11—C

ETATeTUeh! ShIOT YR AT TTeST= a9

hded GIMHHRTH TME=AT SHIHRTST]

Tifed S TR ?
(A) Torefisit

(B) TA.El. =L
(C) TR Tfeteh
(D) wrfe fents

TwTeh GHIRTRT=AT Hd, FTEAT=]

ETATIF T AN T FHIO=3

Sfesh Ml & S S 3R 7

(A) T TU ST ST HAAMT ST

(B) = Tiweh ST SR e
GHER HR

(C) JRTRIAT=AT AN Ser A4l hisd shel

EiIid

(D) WRTHET STEHEA IRaaaG | TEy

TSH HLd
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63.

64.

Who were the Cameralists and what
was their primary focus during 16th

to the 18th century in Europe ?

(A) Chinese administrators studying

public administration

(B)

Indian priests practicing public

administration

(C) German and Austrian professors
and administrators studying

civil service

(D) Egyptian bureaucrats
specializing in pyramid
construction

In the administrative hierarchy,
what is the special connotation of the

term “department” ?

(A) The smallest unit below the
chief executive

(B) The territorial subdivisions of a
country

(C) The largest and highest unit
below the chief executive

(D) The academic divisions in

universities

63.

64.

APR - 21224/T1—C

YA 1631 4 18T IS
FHEMCE I B AT =< WefHeh

Y ST B ?

(A) TSI TRITEATEN ST HIOR
IEEIHIEED

(B) TRSTEATET ST IR AR
HHTE

(C) -RT FHer= ™ HUR SHA &

AT WA o YIS

D) ffae aigswmE @rfer o

HEIREENE CRs!
YT YeTIshAd *faam '’ = srsar=n
fom o7d @ e 2
(A) H&9 HE®R AfeR=ar=a =el
Hald @B HH
(B) weren <o wefyeh Sufasr

(C) H&=a HE&RRMUE Taw ddid HiS

0T FE=d Heh

(D) foemdiemeie Safer fasm
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65.

66.

67.

Which has made administration
more transparent and closer to
people ?

(A) Liberal Policy

(B) Information and Technology
(C) New Economy Policy

(D) Administrative Reforms

Who distinguished between ‘sub-
stantive supervision’ and ‘technical
supervision’ ?

(A) Margaret Williamson

(B) Millet

(C) Pfiffner

(D) Elton Mayo

Assertion (A) and Reason (R)
pattern :

Assertion (A) : Span of control
means the span of supervision.

Reason (R) : ‘If the span of
supervision is extended thinly,
unsatisfactory result occur’.

Answer the question using the codes
given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true, but
(R) is not the correct explanation
of (A)

(A) 1s true, but (R) is false
(A) 1s not true, but (R) is true

(B)

(&)
(D)

65.

66.

67.

APR - 21224/T11—C

IS TR UREEh o TRITE 3l

e ?

(A) /RHATERT GR

(B) wifedt 9 A

(C) T omfefer &)

(D) YRR FHROM

‘gree wHas’ 9 ‘qifae qEae’

AL Tk hIUT el g 7

(A) HrTie faeames

(B) faer

(C) TRET

(D) Teed M0

faem (A) &for &R (R) 90 ¢

g™ (A) : FEEv-foar. &3 =,
IERERIEE TR

HWUT (R) : ST THeIEI0T &5 4TS 9ee

W e gRome STEHIE-
SR Idm.

i
(A) (A) efor (R) Siet SRSk 31 3T
(R) & (A) = Iy favaiom o

(B) (A) &7 (R) S8t sie 3118d, W
(R) ¥ (A) = arg faversmn @

(C) (A) T e 3ME, Wg (R) ¢ 9%
AR

(D) (A) I 38, WG (R) & TR 3T
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68. Staff council were established by | 8. yRg THER " =1 FoTRREier
the government of India on the =% FEeE T S B
recommendations of ................. .

(A) gfgen ddd AN
(A) First Pay Commission
(B) THU oA EM
(B) Second Pay Commission
. (C) Uad e
(C) Royal Commission
(D) J. H. Whitley D) 3. T fe

69. The classification of services in India | 69. RATIeT Yae affepop R
is governed by the ............. . iad 3R
(A) Civil services rules of 1955 (A) gEr Far Afaf=m, 1955
(B) Civil services rules of 1930 (B) el Har aAtaft=H, 1930
(C) Civil services rules of 1947 (C) T e Far oAtaf=m, 1947
(D) Civil services rules of 1929 (D) GEr Far Afaf=m, 1929

70. What is not included in ordinary | 70. HI&RUl fa<t A HIM= FHEL B
pension ? T ?

(A) g Tt =ed
(A) Superannuation pension e . .
(B) Tf¥=d SesAdt e el
(B) Retiring pension (C) =M wva yofd: Hem e
(C) Invalid pension (D) A HIHETS HIRd AT
G M o TR ) e ) e (2 G
(D) Injury pension or family pension D= Iee faesum 399
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71.

72.

Assertion (A) : Maslow was

interested in research in under-

standing human behaviour.

Reason (R) : It was the result of

his early career as psychologist.

Answer the question using the codes

given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Peter Drucker’s concept of ‘MBO’

emphasizes :

(A) Motivation and control

(B) Communication and control
(C) Motivation and self-control

(D) Objectives and control

71.

72.

APR - 21224/T11—C

Toam (A) : T I AT a6 TS
OIS, G W Bl

HROT (R) @ T HAHLER WA &=
TR wRfAS aRomE

WEHe Hehdleh A& Jer ST = ¢

W :

(A) (A) 2707 (R) S8l Tcq 3Tea Ao
R) & (A) = I T S

(B) (A) =fur (R) Sl ¥ed 3ed W

(R) B (A) ¥ Img TI&RT0 el
(C) (A) F =118 g (R) 7 319 318
D) (A) 3FH 3% 90 (R) & T 8

et oo TH.A. 0. T TR
W R :

(A) SO anfor fere

(B) &uwor i fzer

(C) srfudor st Te=-fesm

(D) 3fese amfor Freor
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73.

74.

Minnowbrook-III broadly deliberated

on :

(A) The Future of Public
Administration, Public
Management and Public
Service

(B) The Issues of Public
Administration, Public
Management and Public
Service

(C) The review of Public
Administration, Public
Management and Public
Service

(D) The core values of Public
Administration, Public
Management and Public
Service

Mary Parker Follett’s book ‘Creative
Experience’ brings into focus the

problem of :

(A) Psychology in Organisation
(B) Conflict in Organisation
(C) Morality in Organisation

(D) Alternative

Government

System of

73.

74.

APR - 21224/T1—C

f=reER-111 Aed IaX S 19

-

faf9a smen

(A) CRYIMTEA, &l ALY 00

AN Fi o
CIehHdl AT HIa

(B) ThYSMEA, ©ieh FILAMGT 3for

Trhdar I TR,

(C) ThYIMEA, o ALY 37for

GIET:CINC IS E]

(D) THYRTEE, Teh FEAEATYT 0T

GERCIECIIR G

T 9 Thicied Y& fohufess T

T’ o1 99EeR a9 Sfsd w4
(A) FESTA AMERTE
(B) TEede g

LW

Aldendl

(C) HeIedd

(D) VAT YIRET oHaEen
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75. Match List I with List IT and select

the correct answer by using the

codes given below :

(@)
b)
(c)

d)

(1)
2)
3)
(4)

List I
Chester Barnard
M.P. Follett
Chris Argyris
Abraham Maslow

List II
Management is a profession
Immaturity-maturity theory
Motivating behaviour

Organisation as cooperative

social systems

Codes :

(@ ) (© (@

@ @ 2 & @

B 3 1O @2 @

© @ @2 @O O

D @ @O @ O3

APR - 21224/T1—C
75. FE I, I 11 Hem e 0T el
foeiean Higdgd I 3R el .

e 1

(@) T TS

(b) THO. HeE

(c) Twa iy

(d) TsiTeq A

T 11

(1) SIERYUE & T Fa9E 378

(2) eTafigaaa-uRaeear fagrd

(3) RO =EEr

(4) TEST Uh WEhR! HHTISEh e
W :

(@)

A @

B) )

C) @)

(D) )

(b)

(2)

(1)

(2)

(1)

(c)

3)

(2)

(1)

(2)

(d)

(4)

(4)

3)

3)
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76.

77.

Which of the following pairs is not
correctly matched ?

(A) Spiritual Father of the Social

System — C. I. Barnard

(B) Management Guru - Elton

Mayo

(C) Father of Scientific Management

— F. W. Taylor

(D) Nightingale of Management

Science — M. P. Follett

From the following which is not

the characteristic of charismatic

76.

77.

APR - 21224/T1—C

ETATAIh! BV STl FRE Tood
M ?

(A) T SHaEd™ edTfcaeh faars
- . . w|e

(B) HaRAYA & - Ueed HAl

(C) & e fidms - .
ECg

(D) SAIEATIA IMEATA ARIAA -
. 9. TR

EIeTieh! IV HITHE e afvTse

Tl ?

leaders ? (A) == 359 UGl
(A) High levels of dominance (B) ™Ir=EHE 359 Udesrdl SCHavard
(B) High levels of self confidence STl
(C) They don’t have ability to (C) S=ARE AT TegH T0aTl
convince followers R
(D) Strong conviction in the moral e e -
. (D) Hider HMHehdaX §@ Td¥aH
righteousness
78. The ‘CLECTS’ in prismatic society | /8. T®. S st A wlieieh ™ HArSTHE
of F.W. Riggs are : ‘FolE’ § IRA
(A) Elected leaders of middle class (A) Herq e Taifag 99
(B) Political leaders who could not (B) frores 7 am 3T TET T3
win the elections ) )
_ o (C) fHaguysw fSswTIMEEt IRTieh
(C) Elite groups who use traditional
. . YHET=ET 9L h 0T dUCI“;lTE
clout to win elections
(D) Typical prismatic group (D) wTehiE FHSE fofemse FHe™
37 [P.T.O.



79.

80.

Which of the following statements
is incorrect regarding the elements

of New Public Management ?

(A) An attention to lesson from

private sector management

(B) A focus upon entrepreneurial

leadership

(C) An emphasise on input and

output control and evaluation

(D) An emphasise on authority and

responsibility

According to Fayol, ‘Administrative

skill that is required also in :

(A) Industry, Government as well as

home management
(B) Industry and home management

(C) Government and Administrative

Process

(D) Home management and industry

APR - 21224/T11—C

79. 9 i HARATIAAT H<hi=AT HaHd

weltd ®v faeam 9% e ?

~

(A) TSI &3 ST HTehaviiene

o8 U

(B) JENRE Ag@ER R

(C) e offor ggm gz emfor

HEIHTTT Il |

(D) fywr 2T SeEEREr P

80. hATT=A Hd, YIMHHIA HITErdl &l eI

o

<Ed AEvIS A ;

(A) =M AT IITEA

qlead T8

SEERT
(B) =M 9 T8 HTEATIH
(C) IMEA d T8 HAEIMIA

(D) & AT o 3N
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81. Matching Pattern : 81. Sreul Jeodl :
List I -1
(Provisions) (D)
(@ Board of Control (@) T HE@
(b) Central Administration (b) =HsE TRMEA
() Governor General (c) &R SR
(d) Secretary of State for India (d) ¥Ra T Hiad
List II rat-11
(Acts) (hTER)
(1) Regulating Act, 1773 (1) T stfufm, 1773
(2) Government of India Act, 1858 (2) YR TER FEEI, 1858
(3) Pitts India Act, 1784 3) frem sfem s, 1784
(4) Charter Act, 1833 (4) =T HEEl, 1833
Codes : Hehdieh
(@ b)) () (@ (@ B () (@
A @ @ 3 @ A @ 2 3 @
B 3 1 @ @ B B 1 @ @
< @@ 3 @ o @ 3 @
O 3 1 @2 @ O 3 1 2 @
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82.

83.

The position and role of the Cabinet
Secretary has been influenced by the
emergence of the following powerful

mechanisms :

(A) NITI Aayog

(B) Finance Commission

(C) Inter-State Council

(D) Prime Minister’s Secretariat

The Cabinet Secretariat performs
the following types of functions :

(1)

Preparation of agenda for

Cabinet meeting

2)

Keeping minutes of meetings of
the Cabinet

To co-ordinate the work of

3)

various Ministries

Dismissal of members of the
Cabinet

(4)

To assist the members of the

(5)
Cabinet in discharging their
parliamentary responsibilities

Codes :

(A) (1), (2), (3) and (4)
(B) (2), (3), (4) and (5)
(C) (1), (2), (3) and (5)
D) (1), (3), (4) and (5)

82.

83.

APR - 21224/T11—C

shfsHe Hieer 98 S0 9fHehl Eeiiel
TSN 0= Searges Fenfe e
S

(A) T A
(B) faa sm=m
(C) Sar=g gfivg

(D) JqueT Higeer™

Hfes Afaaed Eeid Jhi=! S

TR Tsd

(1) HEHEa= dohi=t hEwAYEE

TIR L0

(2) HAHgr=A dS®= Juid Sau

oo~

(3) T4

~

o HATTATATe A THad oau]

(4) HfTSME TS J2d% 0]

(5) HiHEx 9S=M 99eT Seee=dl

IR qIETIHEl Ted vl
Hehdieh :
A) (D), (2), 3) T (4)
(B) (2), 3), (4) & (5)
(C) (D), (2), 3) a (5)

D) (1), (3), (4) = (5)
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84.

85.

86.

By which Act the
Government has established over

Central

Provincial or Presidency

Government ?
(A) 1772 Act
(B) 1773 Act
(C) 1833 Act
(D) 1857 Act

How many proposers and seconders
are essential for Presidential
candidates by ordinance of June
1997 ?

(A) 50 proposers and 50 seconders
(B) 20 proposers and 20 seconders
(C) 10 proposers and 10 seconders
(D) 01 proposer and 01 seconder

Which of the following statements
about the Union Secretariat in India
is incorrect ?

(A) It is a policy making and
executive body

(B)
(&)

It is a policy consultancy

The Secretariat is headed by the

Cabinet Secretary

(D) It is the collective name of
all the departments in the

Secretariat

84.

85.

86.

APR - 21224/T1—C

NN

T TR g feen Sfae=

THRIL held TLhIEl T el
el 7

(A) sAfuf=m 1772

(B) eAfuf=q 1773

(C) eAfuf=9 1833

(D) eAfefT=m 1857

S 1997 = AffTHHTIH Tegydl
TR SHRARIHIS! fehell Yoieh & STIAIG
HETIF: Rd 7

(A) 50 g=e 3for 50 IHIEH

(B) 20 g=& W01 20 AIHIEH

(C) 10 == amftr 10 sTHR®

(D) 01 g=sh 7o 01 STTHIEH
WA e TreaTeTaeee S Terde|

FUd f9gm gewe o ?

(A) B 0 AU I ShRERE] TR

Sl

(B) & T YNU TooFl Tl T8

B N o)

onlee HIdA enddld

(C) HiuaTeE Agd

(D) ® Gfoarerndie ge fa9rme e
BICHE: I
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87.

88.

89.

According to recommendation of
Central Pay Commission, 1997,
how many years service is must for
IAS officer become the District
Collector ?

(A) Six year of service
(B) Nine year of service
(C) Twelve year of service
(D) Fifteen year of service

How many grades of ‘Mansab’ were
there in Akbar time ?

(A) Fifteen Grades

(B) Twenty Grades

(C) Thirty-three Grades
(D) Forty Grades

Which of the following are
barriers in Citizen Centric
Administration is identified by
the second Administrative Reform
Commission ?

(1)

Onward looking attitude of civil
servants

2)
3)

Red tapism

Difficulties in administrative
infrastructure

Choose the correct option :
(A) (1) only

(B) (1) and (3) only

(C) (1) and (2) only

(D) (1), (2) and (3) only

87.

88.

89.

APR - 21224/T11—C

HEF T ST 1997 =1 RTRREiTER
eIt Bvamg 1AS stfyehr=ar fondr
T Yol MATIE AR ?

(A) F&l o8 Fen
(B) = g% e
(C) 9 a8 Tl
(D) T&RT au e

3The @M fohdl U8 o HEeRR
Bld 2

(A) 90 9§ &

(B) &9 9§ &

(C) dedi® we o

(D) =™ 95 &

AT Reh G WA WITeieTdsh! ehioTd
FETS R, S T QAT YIMHR A
YR S S3Ed 3TRd 7

(1) R Yol Jedr gfesh

(2) TTATHAIIE

(3) TRIHh A Uy Giaeraed srSavit
I TEE fEe

(A) T (1)

(B) wad (1) 3fur (3)
(C) e (1) AT (2)
D) e (1), (2) 3 (3)
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90. The Revenue Administration in the | 90, ¥= YSELa Hegel WA T4 TR
Mughal rule was under : T
(A) The Wazir (A) =R
(B) The Diwan (B) feam
(C) The Mushriff (C) THI®
(D) The Mustanfi (D) &I
91. Which statement is correct | 91. WERISTE HeHTUTAeH= STekId hI0Td
regarding Municipal Corporations
o8 8 P P faem ale) ag ?
in Maharashtra ?
(A) All Municipal Corporations in (A) TRRTSETA ¥d A RUT cleh
Mah ht d b . &
aharashtta are governed by RTHRTST Holg |91 A2, 1888
the Bombay Municipal Act,
1888 THR =
(B) The functioning of all Municipal (B) TENTSTAE W9 HEFRATAS
Corporations in Maharashtra i
is governed by the Nagpur RIS T AT SR, 1948
Municipal Corporation Act, IR rEd
1948
(C) All Municipal Corporations in (C) wenrs T HETTRATfeTe
Maharashtra are governed by ShTHERTS oS Wifder T e1faf=m,
the Bombay Provincial
Municipal Act, 1949 1949 7
(D) All Municipal Corporations in (D) HENSEA |d HeMATIIoehd
Maharashtra are governed by -
o o THRTS] ATRYTfeTehT, RIS
Municipalities, Municipal
Council Act, 1965 Afgf=™, 1965 WHUT = Merd
43 [P.T.O.



92. Which of the following statements

93.

are correct about the Governor of the
state ?

(1

The executive power of the state
is vested in him

(2) He must have attained thirty-

five years of age

He holds office during the
pleasure of the President

3)

4)

The grounds for his removal are
laid down in the Constitution

Codes :

(A) (1), (2) and (4)

(B) (1), (2) and (3)

(C) (1), (3) and (4)

D) (1), (2), (3) and (4)

Who recorded this observation
“Despite the important role of local
self-government bodies in the
democratic process and in meeting
the basic needs of the people, the
financial resources generated by
these bodies are far less than their
needs”.

(A)
(B)

Balwantrai Mehta Committee

First Administrative Reforms
Commission

()
(D)

Sarkariya Commission

Second Administrative Reforms
Commission

92.

93.

APR - 21224/T11—C

o b 2 R B [ G Bl G [ R E AT N

faus 9 e ?

(1) TgrE] FEHR] JERT TR
fAfeq o

M T IR T8 Yol SRl STE

TeITdr= Heff {9 o 98 &R0
T

2)
3)

Tl ThTgH TRV RO WFLMTT
fqetet @Tme

Hehdiah :

(A) (1), (2) =ufor (4)

(B) (1), (2) =T (3)

(C) (1), (3) =7 (4)

D) (1), (2), (3) AM0T (4)

RIS ishad STl SAlehT=a TS
TS QUi ShEuaTd T ToRIsd =]
TEvaTdT YHeRT STYAR!, A1 EARhe i
B SR W e TRSeT Su
FAI oed. © Fe o ARfEe ?

(4)

(A) Seradd Hear 9fbdr

(B) ufee TRIEERE GURI SEM
(C) HTHRIAT AT
(D) THU YRIHHE FEURON ARR
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94. 73rd Constitutional Amendment | 94. TSRS FEARI Taiferd 734 gt
Act 1992 relating to Panchayat Raj S 1992 IV WEIMT @1 2
Institutions does not apply in : e ?

(1) Mizoram (1) fogmm

(2) Meghalaya (2) HaeE

(3) Nagaland (3) el

(4) Goa (4) e

Codes : Hehdich

(A) (1), (2), (3) and (4) (A) (1), (2), (3) 3707 (4)
(B) (1), (2) and (3) (B) (1), (2) 31w (3)

(C) (3) and (4) (C) (3) =fu (4)

(D) (1) and (4) (D) (1) 3T (4)

95. The provision of Governor of the | 95. MRATHE! TS IS & TG HIUTE
State in India is borrowed from the TR A A )
Constitution of :

(A) FTHT.
(A) USA.
(B) =1
(B) Canada
(C) England (©) ¥eie
(D) France (D) %4
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96.

97.

98.

When the Cantonment Boards are
established in India ?

(A) 1919
(B) 1935
(C) 1924
(D) 1947
According the Act PESA Gram

Sabha has special powers of :

(1) Administration of canals

(2) Prohibition of liquor

(3) Mimer products in the forest
(4) Manage village markets
Select the correct codes :

A) (D), (2), 3)

(B) (2), (3), (4)

© 3, 4), (1)

D) (D), (2), 4)

In Maharastra how many members

are elected to Nagar Panchayat ?
(A) 10
(B) 12
(C) 17
D) 15

96.

97.

98.
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TRATHEY heeh Heos shogl LTI Sl ?
(A) 1919

(B) 1935

(C) 1924

(D) 1947

U’ 1 HERTTER AN g o
aAfgehr fesa

(1) hlefer JRmEA

(2) TR

(3) SHTeIdel TTeEcdIe

(4) AT ST e
AT Gehaish faST

A) (1), (2), 3)

(B) (2), (3), (4)

(C) (3), (4), (1)

D) (1), (2), (4)

TN E TR T=Edae! fhdl 95&
faee A ?

(A) 10
(B) 12
(C) 17
D) 15
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99. In 1787 the District Collector was | 99. v.9. 1787 wed TSegIfera=gren
given, which of the following R R T
powers :

(1) =™ 9 TSIHR
(1) Civil Justice and Magistracy

e (2) Toeemdiel fom™ %M
(2) Developmental Activities in
District (3) TEEA UETEA
(3) Administration of Revenue (4) R 9 GoHOE
(4) Law and Order - . e
4 Hdehdlen [H9s]

Select the correct codes :

A) (1), (2), (3)
(A (1), (2), (3)

(B) (2), (3), (4)
(B) (@), (3), (4)

C) (), 3), 4)
€ (), 3), 4)

100. In the era of Ashok dynasty who was | 100. TSeRI&ehTl o1 USHRE U8 SRR
known as present day’s collector ? qSEEAed I Bl 7
(A) Cirkar (A) TR
(B) Rajuka (B) T[T
(C) Vishayapati (C) forsramydt
(D) Uparik (D) 3IuIfieh
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